A\ ACROW

CNCtIRIFIMEE S Eo i+

Accessories for Machining Centers

Vol. A23



(@ \\ (@& 7] =11 [==J] LY ;- 3= =3 i 753 =
/ACESSORIES [FONR [VIACHEIINTINKGG CEINTTIERES i

AR EEE

Rotating Coolant Unions

w
.

- B

[}
(Y
o
&)

hﬁ

70 . / "
Spindle Clamping Units - 4 m .L--‘.
| Ld - :
i Pallet Clamping Systems

www.acrow-tools.com.tw



© FEfIE
Pallet Clamping Systems

‘03,
® [GAlREIEEEE
Rotating Coolant Unions
[} L -

® DIN69872 EEZRMAFT
DIN69872 Pull Stud Type Clamping Units

® CAT TERMAF N
CAT Pull Stud Type Clamping Units

® BT B/ MANFT
BT Pull Stud Type Clamping Units

® DIN69872 fE/I5&MRF R
DIN69872 Pull Stud Type Clamping Units

© HSK HIJJZR/T\ / HSK #EASHITIZRITL

HSK Clamping Units / HSK Repair Clamping
Units

© STB {EAEHIEE
STB Standard Test Bars

© FEHER
Tapper Gauges

® HijJEt
Grip Pull Force Gauges

® BT E#IZRTANFH
BT Pull Stud Type Clamping Units

® DIN69872 EHFRMAFT
DIN69872 Pull Stud Type Clamping Units

® OTT &M
OTT Pull Stud Type Clamping Units

® BT fENRMAFR
BT Pull Stud Type Clamping Units

® CAT B/ MAFT
CAT Pull Stud Type Clamping Units

® HSK Sensor EEfIFEER
HSK Gauge for Sensor Position

® ATCTJiR8
ATC / Spindle Aligners

© EURER

IIIIIHHIIIIIIIHIIIHII|IIIHIIIHII|IIIHIIIIIIIIIIIHIIIIIIIIIHIHIIIIIIHIHIIIIIIIHIHHIIIIIIHIHHIIIIIIH

LT EEEEEEEPPEEEREEEPEEEEEEEEEEEPEEEEEEEEEPEEEEEREEEEEEEEEEEEEEEPEEEEEEEEEEEEEEEEEEEEEEEEETTAA

o [HAlREISIEE

Rotating Coolant Unions

© BT EEIRTRFH
BT Pull Stud Type Clamping Units

® CAT &R TANFT
CAT Pull Stud Type Clamping Units

1)
® 1SO EBHRT
ISO Pull Stud Type Clamping Units
W P
o 14)

® DIN69872 fEIRMAFT
DIN69872 Pull Stud Type Clamping Units

® CAT {E715RMMFN
CAT Pull Stud Type Clamping Units

® HSK I MZEAR (1)
HSK Clamping Unit Installation Fixture (Set)

o THMRIER

Tool Ejection Path Instruments

® thibhKESIEt

Coolant Through Pressure Gauges

www.acrow-tools.com.tw



E{EEE TP PP E PR E T
m TP

@D

0
e
ii 1 ‘ l @
(8]
©
(L T
J
@C hé
OE +0.2
@B +0.1
OA
A
Part No. A B C D E a b c d
500 BEUTEMIRE
Type 500 Pallet Clamping Systems 8 8¢ g8 63 8¢ e 4 19 28
800 EUTEIHE
Type 800 Pallet Clamping Systems 10 Vg %8 180 118 58 41 12 s
EIESHRSR R ETEE RS P
Order No. Part No. Order No. Part No.
500 BYFEAIEE (1) 800 EIEMIEE (1)
SPH500-M Type 500 Pallet Clamping Systems (M) SFHB00-M Type 800 Pallet Clamping Systems (M)
500 EEMIRE (£3) 500 EIEMIRE (£3)
SRE500-F Type 500 Pallet Clamping Systems (F) SPHEO0-F Type 800 Pallet Clamping Systems (F)

www.acrow-tools.com.tw



}ﬁjJE'I' llllllll||||Illl|||||Illl|||Illllll||||||||IIIIIIIIIIIIIIII‘
Grip RulllEorce Gauges LT PP TR

psi 2200
kg/em?
& G

160
CL16

WiIKA

HEEWIVEE - SRER

Oil Pressure Mechanical Structure, High Stability.

FERRAIDET EMAIRIRIE RIS E S T H IR MAVR AR LIS -
BRIBREREHESR 25+1°CA »
ASALDETR EERRTIR R AR DRI iPHE - SFAIOETRIT -

Check the specification of pull studs on the pull force gauges should correspond
the specification of pull stud clamping unit.
Measuring environment's temperature should be controlled within 25+1°C.

Clean the pull force gauges and front-end taper parts and then clamp the pull force

gauge.

REFREREERERN - AIFHEERRUMER MER A T755%E) -

ISO RIZIEHERRT « FEISHIRIRIZHE - SCAlTRE (GHEERNT) -

HSK RIDEHERAD : FEiS/ BRFEA#ENEN B » IR HREETNE—
18 (G T 758E) B -

ERALD - DUSSFETIENEZBUE <10 » BIRERIALS (kg-f) ©

To ensure the accuracy of the pull force measurement, gauge has to be used in the
pre-pull condition (as shown in the left below picture).

Before using the ISO force gauge, please lock the pull stud to be at pre-pull
condition (not lock too tight).

Before using the HSK force gauge, please put the hexagon wrench into the
hexagonal hole at the bottom of the taper, then lock clockwise till the indicator
moved one scale in the outer ring (as shown in the left below picture).

The finger indicated the value of the outer ring x10; the value is pull force measured.

R BREE
Part No. Measuring Range
1SO20 0~40 kg/cm?
1SO25 0~40 kg/cm?
1SO30 0~60 kg/cm?
1SO40 0~160 kg/cm?
1SO50 0~350 kg/cm?
HSK32 0~160 kg/cm?
HSK40 0~160 kg/cm?
HSK50 0~350 kg/cm?
HSK63 0~350 kg/cm?
HSK100 0~600 kg/cm?

www.acrow-tools.com.tw



v 3 5
S al oS 208 nn|nmln||||1|||||||||||||||||||1||||||||||||H
Rotating[EoolantUnio n's gl

G200711M 16180

=
No 12111990 | g

aC

MA <27 Nm

' J
m Fig. 2

o MaA : B KSHERITNE o e MA: Max. Tightening Torque

6200711 M16 0090
No 22093921 e e iR

e

o IR{FEIR
Operating Datum
=09 RIE(EEETD R BARE RaLIFRE EIEIREATRRIE
Max. Pressure Min. Closes Seal Pressure Max. rpm Max. Flow Rate | Max. Working Temp. Coolant Purity
50 bar 4 bar 15,000 rpm 28 L/min 70°C <25u
EIRERER =i
Order No. Fig. A B C D F G H J M B Q
G200711M16180 1 136 -
M16*1.5PLH | 3/8" NPT | 43.7 16 7.5 24 18 5 1/8" NPT 57
G200711M16090 2 140 110
® EmTHin< I THE
Preparation of the Spindle
M
-RIN
©0.005 £ =
i TSR
— Spindle End Rotor Pilot
x
= X Y z | M
% 18.01 7 17 17.985 5
v 18.00 17.975
i
z FHEBE

o FifimgeicMSLEIMREINE < 0.005 mm T.I.R o Pilot bore dia. to be concentric to the centerline within 0.005 mm T.I.R.

o THNREEAIVMREBE < 0.01 mm ° e Spindle face to be perpendicular to the centerline within 0.01 mm T.I.R.
o HIEBERAHEME : 27 Nm o e Max. Tightening Torque: 27 Nm.

www.acrow-tools.com.tw



(U~ S =]
lﬂéﬂiﬁ’@i;ﬁﬂ IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII‘
Rotat-ing cceEe Utems i

G2008RUL0180 ) g
RUL No 808020 I
. (@] ——I-| —_— e —— X m

2008 RUL 0090
RUL No22114423 — = ko b
MA <27 Nm L
, B
E& Fig. 2 J

o MaA: B KSHERIRAE o e MA: Max. Tightening Torque

® IFERUR
Operating Datum
=019 RREE BARE RaLIERE EIEIRERATRRIE
Max. Pressure Max. rpm Max. Flow Rate Max. Working Temp. Coolant Purity
50 bar 20,000 rpm 28 L/min 70°C <25u
EIREHRSR S
Order No. Fig. A B (& D F G H J M B Q
G2008RUL0180 1 -
M16*1.5PLH | 1/4" NPT | 34.0 114 16 8.0 17 18 4 1/8" NPT 44
G2008RUL0090 2 88
® EmTHim< I THEE
Preparation of the Spindle
M
-RIN
©0.005 < e
i TSR
— Spindle End Rotor Pilot
x
S X i Z [ M
18.01 17.985
7 17 4
v - 18.00 17.975
7 °
DEEETE
z THERE Rotor

o FifimgeicASLEIMVREINE < 0.005 mm T.L.R ° o Pilot bore dia. to be concentric to the centerline within 0.005 mm T.I.R.

o THiREEAIVREBE < 0.01 mm ° e Spindle face to be perpendicular to the centerline within 0.01 mm T.I.R.
o BIHBESRAHEMME : 27 Nm e e Max. Tightening Torque: 27 Nm.

www.acrow-tools.com.tw



BT8R TIANAFR, ||||||||||||1|||||||||||1||||||||||||\|||1|||H
Clamping]Uni ts S

)
= —==
25
-
;§
-
=
2=

| 1=
— ~ IS
8| | % o |®
Q Q
\
, : : ﬂ_"_ o *Fs
T ki
b T .
Q **MA
3 30° 59 S
1 ha | |m 2
hs P j
o [FERIZRMEABREENIIRE e The grippers have the held position function.
o MAHIFIRERIE » MIEFE o e Special treated segments can prevent abrasion.
e Fs: BARITIA] - e Fs: Max. Clamping Force
o Ma : RASHERHE - e Ma: Max. Tightening Torque
ETHE#RER 1Rg ala|b|c|d|elf g h|i|jlk|!l|m|n|o]|P]|hs|ha|FsMax.|Ma|SW
Order No. Part No. |15’ H7 h7 min kN | Nm [ mm
9106H-41 BT30-45°H |45°(19.6/19{17.8|20.2| 10|24 [M10*1.5P| 50 | 47 |20(37|75|3.5| 3 | 3 |20.5| 4 |0.5| 10 30| 5
9106H-41B o o
(ELINE.5) BT30-45°B [45°|19.6/19|17.8/20.2| 10 |24 [M10*1.5P| 50 | 47 |20(37|7.5|3.5| 3 | 3 (220 4 | 2 10 30| 5
9106H-41D | gr30.450 D |45°(19.619 17.8/20.2| 10 |24 |M10*1.5P| 50 | 47 |20(37|75(35| 3 | 3 228 4 (28| 10 |30 5
(EINE2.3) ) i ) T ' )
9106H-42 BT30-60° H |60°|19.6/19{17.8/20.2| 10|24 [M10*1.5P| 50 | 47 |20|37|75|3.5| 3 | 3 [20.5| 4 |05 10 30| 5
9106H-42B o o
(EHLINE.5) BT30-60°B [60°|19.6/19|17.8/20.2| 10 |24 [M10*1.5P| 50 | 47 |20(37|75|35| 3 | 3 (22| 4 | 2 10 30| 5
9106H-42D o o
EILINE2.3) BT30-60°D [60°|19.6|19|17.8/20.2| 10 | 24 [M10*1.5P| 50 | 47 |20|37|7.5|3.5| 3 | 3 (22.8| 4 (28| 10 30| 5
9106H-03 BT40-45°H [45°| 28 |28|26.4|28.5|16 |35 |M16*1.5P| 82 | 70 |26 (52| 10 45| 6 |3.5| 33 |55 0.5 18 65| 6
9106H-03A | BT40-45° A |45°| 28 |28(26.4(28.5(12|35|M12*1.0P| 82 | 70 |26 52|10 (45| 4 |3.5| 33 |55|05 18 65| 6
9106H-06 BT40-60° H |60°| 28 [28(26.4|28.5|16|35|M16*1.5P| 82 | 70 |26 |52 | 10 (45| 6 |3.5]| 33 |5.5|0.5 18 65| 6
9106H-06B % N
EHILIET.2) BT40-60°B [60°| 28 |28|26.4|28.5|16|35|M16*1.5P| 82 | 70 |26 (52| 10 45| 6 |3.5|34.2/4.3|0.5 18 65| 6
9106H-08 BT40-90° H |90°| 28 |28(26.4(28.5|16|35|M16*1.5P| 82 | 70 |26 52| 10 |[45| 6 |3.5] 33 | 55|05 18 65| 6
9106H-21 BT50-45° H |45°| 43 |43|40.4|43.5|22 |54 |M22*1.5P| 98 | 90 |35|69 |16 | 5 |9.5|45| 37 | 85|05 35 160(10
9106H-25 BT50-60°H [60°| 43 |43|40.4|43.5|22 |54 |M22*1.5P| 98 | 90 |35[69|16 | 5 |9.5|45| 37 |85|05| 35 |160]10
9106H-26 BT50-90° H |90°| 43 |43|40.4|43.5|22|54 |M22*1.5P| 98 | 90 |35|69 |16 | 5 |9.5|45| 37 | 85|05 35 160(10
9106H-61 BT60-45° H [45°| 66 |62|58.6/62.5|30|77 |M30*1.5P|130(125|40(96|23 |[65]| 16| 5 [49.5(11.5| 1 70 |450|17
9106H-66 BT60-60° H |60°| 66 |62|58.6/62.5|30|77 |M30*1.5P{130(125/40|96|23 |65| 16| 5 |49.5/11.5] 1 70 45017

www.acrow-tools.com.tw



BT E8ATIEISFIR oo
Clamping|U ni ts

o IHRVZRMEBRIFELIIAE
o MARERIRRE - MIEFE o

___ @dmin

e The grippers have the held position function.

e Special treated segments can prevent abrasion.

EIEEHmER R alalb|c|d|e|f|lg|h|i]] k | I | m [nfo|P q r | s | hs |ha

Order No. Part No. |=15 H7 min (sw)|(sw)
9106H-41C |BT30-45°C |45°(19.6|19|17.8/19.517.5(24|7.5(55.9|3.5(85.65| 97.5 | 71.4 | 57.5 |12|10|23|M10*1.25P |4/5| 5 | 4 |0.5
9106H-41CA 6 Caluss
(=0 75) BT30-45° CA|45°(19.6/19(17.8[19.5/17.5|24|7.5(55.9|3.5|85.65| 97.5 | 71.4|58.2512|10|23|M10*1.25P |4/5| 5 |3.55/0.8
S Sy |BT30-45° CB|45°(19.619(17.8[19.5/17.5|24|7.5|55.9|3.5(85.65| 97.5 | 71.4| 59 |12|10|23|M10*1.25P|4/5| 5 |35 |1.5
G5y |BT40-45° BD|45°| 28 |28(26.4(28.5| 26 |35(10|78.44.5120.4(129.4/100.4) 73.6 |16|12|26| M14*15P | 6 | — |43 |05
e 3y, |BT40-90° BD|90°| 28 |28(26.4(28.5| 26 |35(10|78.44.5120.4(129.4/100.4) 73.6 |16|12|26| M14*15P | 6 | — |43 |05

www.acrow-tools.com.tw




D|N698723§§ma§m9*5ﬂ I
DIN69.8i72 ClampinglUnits; HII[HI[!IlHIIHII[HI[!IHHIH‘

3 h min
tT—
g i
%z k0.2 ,
3= |
clz
| " © ;‘ W23 || € g
J : o 5 o 53
|
1 : : - i *Fs
I L —
— E 2/ \ c
- S **MA
_ Q 30, Z50| | o
1 ha m o
hs p j
o FERIZRMEABREENIIRE e The grippers have the held position function.
o MAHEIFIRERIE » MIEFE o e Special treated segments can prevent abrasion.
e Fs: BARITIA » e Fs: Max. Clamping Force
o Ma : BRASHERIAE - o Ma: Max. Tightening Torque
EIEEiRER bzt g al al|b|lc|d|el|f g h i |j|k|[l|m|n|o|P hs | ha |Fs Max.| Ma | SW
Order No. Part No. |%15 H7 h7 min kN Nm | mm
9106H-47 |DIN30-47 |15°|19.6(19(17.8/20.2| 10|24 /M10*1.5P| 50 | 47 [20(37|7.5|3.5| 3 | 3 |19.5| 4 |05 10 30| 5
9106H-07 |DIN40-07 |15°| 28 |28(26.4|28.5/16|35|M16*1.5P| 82 | 70 |26|52|10(45| 6 |35/ 40 | 45 |05 18 65| 8
9106H-07A |DIN40-07A | 15°| 28 (28 (26.4|128.5|12|35 | M12*1.0P| 82 | 70 [26|52|10|4.5| 4 |3.5| 40 | 45 |0.5 18 65| 8
9106H-27 |DIN50-27 |15°| 43 (43(40.4|/43.5|22 |54 M22*1.5P| 98 | 90 [35[69|16| 5 |9.5/45| 48 | 85 | 0.5 35 160| 10
9106H-67 |DIN60-67 |15°| 66 |62 |58.6/62.5/30|77|M30*1.5P[130(125|40(96|23|6.5|/16| 5 |745/11.65{1.15| 70 |[450| 17

www.acrow-tools.com.tw



DIN69872 A& MAHF I\ |||||1||||||||||1|||||||1|‘
)it SR

)

02z
0L0-0FN

o [HAVRMEBREFENTIIEE - e The grippers have the held position function.

o MPAHEAFIRBIE » MAEKE o e Special treated segments can prevent abrasion.

EIiBIRER & alalb| c|d|e|[f|g]| h|i j k | m|n|fo|P q r | s |hs|ha| B
Order No. Part No. |z15° H7 min (sw)|(sw) ORUR
9106H-07C | DIN40-07C [15°|28|28| — | - |28|35|10(78.4| — | — |170.4|94.25(69.8[16| 6 |14|M16*1.5P| 6 | 8 |4.5/0.5] 1
9106H-07D | DIN40-07D | 15°|28|28|26.4|28.5|26|35|10(78.4|4.5(120.4|129.4|194.25|79.3|16 (12|26 | M14*15P| 6 | — |4.5|0.5| 2
9106H-07F | DIN40-04F [15°(28|28|26.4|28.5(26|35|10|78.4|4.5|120.4|129.4|94.25|79.3|16|12|26| M14*1.5P| 6 | — |45/0.5] 3

www.acrow-tools.com.tw



CATX#HBZTAF IIIIHIHHIIIIIIIIIHHIIIIIIIII\IIIIIIIHIIIHIIIIIIHIIIH‘
CAT§RulIIStudlily pelClampinglUnits I

5~ NANIRRIRN

A CATO-4

2209

QML

J]J_W N *Fs
)
‘ 5 **MA
o

j
o IFERIZRMABREENIIRE e The grippers have the held position function.
o MAHIFIRERIE » MIEFE o e Special treated segments can prevent abrasion.
e Fs: B ARITIA » e Fs: Max. Clamping Force
o Ma : R ASHERIHAE - o Ma: Max. Tightening Torque
EIIB#REE RS al al|b|lc|d|el|f g h i jlk| !l |m|n|o| P | hs|ha|FsMax. Ma| SW
Order No. Part No. |%15 H7 h7 min kN Nm | mm
9106H-44 |CAT30-44 |45°(19.6/19(17.8/20.2/10|24|M10*1.5P| 50 | 47 |20|37|7.5(3.5| 3 | 3 |32.7| 3 |05 10 30| 5
9106H-04 |CAT40-04 (45°| 28 |28(26.4|28.5/16|35|M16*1.5P| 82 | 70 |26|52|10|4.5| 6 |3.5| 50 [ 45|05 18 65| 8
9106H-04A |CAT40-04A|45°| 28 |2826.4/28.5/12|35|M12*1.0P| 82 | 70 |26 52|10 (4.5| 4 |3.5| 50 | 45|05 18 65| 8
9106H-24 |CAT50-24 |45°| 43 |43|40.4|/43.5/22 |54 |M22*1.5P| 98 | 90 [35|69|16| 5 |9.5/45|58 | 7 |05 35 160| 10

@ www.acrow-tools.com.tw



CATXi#xRZMRFR 1|||||||rm||||||nmnnummnmmmnrmuulH
CATIRulIIStudiily pelClampinglUnitsiIIINIITHiIT

+0.1
h

(=
>
N
L=
28V
=
e
=3

1 p
ha

m
hs

o KRR MEBBRISENINEE - e The grippers have the held position function.

o MPAHEAFTRBIE » MAEKE o e Special treated segments can prevent abrasion.

EIiBIRER & ala|lb|c|d|e|[flg|h|i|] j | k [l |m|n|fo|P q r | s |hs|ha| S&
Order No. | PartNo. |z15 H7 min (sw)|(sw) ORIR
9106H-04C | CAT40-04C [45°|28|28|26.4|128.5|26|35|10|78.4|4.5(120.4|129.4|845| 78 | - | - | 9 | M16*1.0P| 6 | 8 [45/05| O
9106H-04D | CAT40-04D [45°|28|28|26.4|128.5|26|35|10(78.4|4.5(120.4/129.4|84.5/88.9/16|12|26| M14*1.5P | 6 | — |45(0.5| 2
9106H-04F | CAT40-04F [45°(28|28|26.4|28.5(26|35|10|78.4|4.5|120.4|/129.4|84.5|88.9(16|12|26| M14*1.5P | 6 | — |4.5]|0.5] 3

www.acrow-tools.com.tw @



OTTxdhaEMm nmlnum||||||||||||||n|||||||||||||||||1||||||\||||||H
OnnRullfStudilypelClam pinglUnitsTIHIITIIIITIITITI

E,
**MA
o MAHIFIRERIE » MIEFE o e Special treated segments can prevent abrasion.
o Fs: RAALTIT] - e Fs: Max. Clamping Force
o Ma : R ASHEBYURLE - o Ma: Max. Tightening Torque
o b IEREEMMERE : #40=79.5/86.5mm ° e There are two different length for b distance. #40 = 79.5/ 86.5 mm.
H= 0 R al|al| b |c e | flglh|i|lj|k I m n| o |hs|ha G Fs Max. | Ma
OrderNo.| PartNo. |15 G7 H8 kN | Nm
9105-43 |OTT-BT30-45° |45°|19.5| 59 |27 22523 | 91(19|10(12| 23 | 57.5| 70.4 |10.6| 11.4{3.2| 1 |[M10*1.25P| 10 30
9105-03 |OTT-BT40-45° |45°|27.6| 79.5 |40 34 |34.5|117|27|11|18|24.5| 60.3 | 99.7 |14.1| 20.2 |3.7|0.65/M14*1.5P 18 65
9105-03A | OTT-BT40-45° A |45°(27.6| 86.5 |40 34 |34.5|117|27|11|16|24.5| 60 | 99.4 |21.1|12.9 (3.8/ 1 |M14*1.5P 18 65
9105-06 |OTT-BT40-60° |60°(27.6| 79.5 |40 34 |34.5(117|27|11|18|24.5| 60.3 | 99.7 |14.1| 20.2 |3.7|0.65|M14*1.5P| 18 65
9105-08 |OTT-BT40-90° |90°(27.6| 79.5 |40 34 |34.5(117|27|11|18|24.5| 60.3 | 99.7 |14.1| 20.2 [3.7|0.65/M14*1.5P 18 65
9105-23 |OTT-BT50-45° |45°| 43 [116.5|56 49 149.5/163|40|12|20|33.5| 68.8 [145.75|14.7|129.25(4.2| 1 |M16*1.5P| 35 160
9105-25 |OTT-BT50-60° |60°| 43 [116.5|56 49 149.5/163|40|12|20|33.5| 68.8 [145.75|14.7|129.25(4.2| 1 |[M16*1.5P| 35 |160
9105-26 |OTT-BT50-90° |90°| 43 [116.5|56 49 |49.5|163|40|12(20|33.5| 68.8 |145.75|14.7|29.25|4.2| 1 |[M16*1.5P| 35 160
9105-04 |OTT-CAT40-04 |45°|27.6| 79.5 |40 34 |34.5|117|27|11|18|24.5|77.55| 82.9 |11.2| 3.4 (2.9| 1.6 IM14*1.5P 18 65
9105-24 |OTT-CAT50-24 |45°| 43 [116.5|56 49 149.5/163|40|12|20|33.5| 87.8 [125.95|14.9| 9.45 |3.8/1.05|M16*1.5P| 35 |160
9105-07 |OTT-DIN40-07 |15°|27.6| 79.5 |40 34 |34.5|117(27|11(18|24.5| 66.5 | 93.6 |11.2| 14.1 |3.8/0.65|M14*1.5P| 18 35
9105-07A | OTT-DIN40-07A | 15°(27.6| 86.5 |40 34 |34.5(117|27|11|16|24.5| 60 | 99.4 |21.1|12.9 (3.8/ 1 |M14*1.5P 18 65
9105-27 |OTT-DIN50-27 |15°| 43 [116.5|56 49 149.5/163|40|12|20|33.5| 79.6 {134.55|14.9/18.05(3.5/1.05/M16*1.5P| 35 160

@ www.acrow-tools.com.tw



ISOEEZM lllIIIHIHHIHIIIIIHIHHHIIIIIIHIIHHIIIIIIHIHlIHIIIIJIIIIIll!llllllllllllH
RullfStudiTy peelClam pinglUni:t:s S

h min

j

S
| SN,
. hs I i
Fig. 1 P
h min
j
02
g’_ k +0.1
g | C
£
AISO25 ' ge
S
oL
77 3 C *Fs
ZE[
**MA
4359 a5
ha=0.5 m o
Fig. 2 hs " b i
h min
i
02
+0.1
| c
‘—'.;, 5
**MA
Fig. 3 [
hS T T i p
o FERIZRTMABREENIIRE e The grippers have the held position function.
o MAHIFIRERIE » MIAEFE o e Special treated segments can prevent abrasion.
e Fs: B2ARIIN - e Fs: Max. Clamping Force
o Ma : R ASHERIHSE - e Ma: Max. Tightening Torque
EIREIRSR | AR BSR| | a |[b| c | d|e| f g h |i| j |k| I |m|n|lo| P r | hs|ha|Fs Max. MA
Order No. |Part No.| Fig |*15 H8 min (sw) kN Nm

9106H-65 | ISO20 | 1 |15° 15 [15| — |15.2| 8 |17.6| M8*1.0P |37.36|12(35.86| — |10.66| — |3 |2 [17.95| 4 (25|03 - =

9106H-64 | 1SO25 | 2 [15°|14.5/14|13.4/14.5/ 8 | 17 | M8*1.0P | 38 |12|32.7 |25| 8 |[3.5(3|2|135| 3 [4 |05 4 12

9106H-64C| 1SO25 | 3 [15°|14.5/14|13.5/14.5/13| 17 | M8*1.25P | 60 (22| 58 |25| 8 |[3.5/3|-(388| - [4 |05 4 12

www.acrow-tools.com.tw




BTEZAHORTNANASFL ||||||||||||1|||||||||||1||||||||||||\|||1||H
ClampingU ni s ST

+0.1
m
k js8
. +0.1
J
f SR
T I ? 1%
+m +_Q 230 § Q
S = @ Do) 7
TURY
I L ol o
Q
=
oo hA+0.5 Q
o
hs
P o
ﬂj
g
o [TFIRESTRRZIE » MIEERE o e Special treated segments can prevent abrasion.
e Fs: AR - e Fs: Max. Clamping Force
o Ma : RASHERHE - e Ma: Max. Tightening Torque
EIEE#RER BE |a| b |c| d|e| f g i j k |[I|m|n| o | p | g |ha|hT|hs|FsMax.|Ma[SW
Order No. | PartNo. [H7 kN | Nm [ mm

9106VM-441 |BT30M-45°/20(23.5|25|19.5({10| 47.5 [M10*1.5P| 95.4 | 55.4 | 81.8 |7.9|94.4| 3 | 20 (27.1| 103 |0.5/7 |5 6 10| 5

9106VM-442 | BT30M-60°/20(23.5|25|19.5{10| 47.5 [M10*1.5P| 95.4 | 55.4 | 81.8 |7.9/94.4| 3 | 20 (27.1| 103 |0.5/7 |5 6 1015

9106VM-403 |BT40M-45°(29| 36 (34| 28 |16| 68.4 |M16*1.5P| 145 | 78.4 | 115 |[10|143| 6 |25.5|39.7|145.6|0.5/9|6| 18 |30| 6

9106VM-403A BT40M-45°29| 36 |34| 28 16| 68.4 (M16*1.5P| 145 | 78.4 | 115 |10|143| 6 |25.5/41.2|145.6| 2 |9|6| 18 |[30| 6

9106VM-406 |BT40M-60°29| 36 |34| 28 [16| 68.4 (M16*1.5P| 145 | 78.4 | 115 |10[143| 6 |25.5/39.7|145.6/0.5/9 6| 18 |[30| 6

9106VM-408 |BT40M-90°(29| 36 (34| 28 |16| 68.4 |M16*1.5P| 145 | 78.4 | 115 |[10|143| 6 |25.5|39.7|145.6|0.5/9|6| 18 |30| 6

9106VM-421 |BT50M-45°|44| 54 |50| 38 [22|101.75{M22*1.5P|210.5|117.75(176.75{ 16 | 209 |9.5| 35 (69.2|224.5/0.5/12| 9| 35 |[30|10

9106VM-425 |BT50M-60°|44| 54 |50| 38 [22|101.75{M22*1.5P|210.5|117.75(176.75{ 16 | 209 |9.5| 35 (69.2|224.5/0.512| 9| 35 |30|10

9106VM-426 |BTS0M-90°(44| 54 50| 38 |22|101.75|M22*1.5P|210.5|117.75|176.75| 16 | 209 |9.5| 35 |69.2|224.5|0.5/12| 9| 35 |30|10

@ www.acrow-tools.com.tw



BTE&AZXMPISFE i
ClampinglUnits m|||||||||||||||\|||||m‘

o MAHERTRRRIE » MIERE -

o Fs: RAALII] -
o Ma: ERASHERHAE

k js8

+0.1
h

%ﬁ

h =
gd H7
f
H

an

+
=
13
@e H7

e Special treated segments can prevent abrasion.
e Fs: Max. Clamping Force
o Ma: Max. Tightening Torque

EIIEHRER R alb|c|d| e f g h i| k Il {m|n| p |ha|ht|hs|FsMax.|Ma|SW
Order No. | PartNo. |H7 kN Nm | mm
9106VF-641 | BT30F-45°| 20 (23.5/25|19.5/11|M10*1.0P| 121.3 | 55.4 |9.5| 17 | 81.8 [7.9/94.4| 5 |100.5|0.5| 7 | 5 6 10| 4
9106VF-642 | BT30F-60° | 20 {23.5/25|19.5/11|M10*1.0P| 121.3 | 55.4 |9.5| 17 | 81.8 [7.9/94.4| 5 |100.5|0.5[ 7 | 5 6 10| 4
9106VF-603 | BT40F-45° (29| 34 (36| 28 |13 [M12*1.0P| 175 | 78.4 |15|22.5| 115 [10|143| 6 | 145 |05/ 9 | 6 18 30| 6
9106VF-606 | BTA0F-60° |29 | 34 [36| 28 |13 |M12*1.0P| 175 | 78.4 |15|22.5| 115 (10143 | 6 | 145 |0.5] 9 | 6 18 30| 6
9106VF-608 | BT40F-90° |29 | 34 [36| 28 |13 |M12*1.0P| 175 | 78.4 |15|22.5| 115 [10|143| 6 | 145 |0.5] 9 | 6 18 30| 6
9106VF-421 | BT50F-45° | 44| 50 (54| 38 |17 [M16*1.5P| 251 [117.75/19| 25 |176.75[16|209| 7 | 214 |0.5(12]| 9 35 30| 6
9106VF-625 | BT50F-60° |44 | 50 |54 | 38 |17 |M16*1.5P| 251 |117.75[19| 25 [176.75[16 209 | 7 | 214 |0.5{12| 9 35 30| 6
9106VF-626 | BT50F-90° | 44 | 50 |54 | 38 |17 |M16*1.5P| 251 |117.75({19| 25 [176.75[16 209 | 7 | 214 |0.5[12| 9 35 30| 6

www.acrow-tools.com.tw



DIN69872 X MAFI, ||||||1||||||||||1|||||||\1||H
DIN69.8172 W

o
Q
S
hs
p o
ﬂj
g
o MAHASIRZIE - MIERE - e Special treated segments can prevent abrasion.
e Fs: BARIT]S] - e Fs: Max. Clamping Force
o Ma : RASHERHE - e Ma: Max. Tightening Torque
EIRBIRER RS al b |c|d|e| f g i j k I|m|n|o|p g | ha|ht|hs|Fs Max.|Ma|SW
Order No. | PartNo. |H7 kN | Nm [ mm
9106VM-447 | DIN30M-47 |20|23.5(25/19.5|10| 47.5 |[M10*1.5P| 95.4 | 55.4 | 81.8 |7.9|94.4| 3 | 20 [26.7| 103 |0.5|7 |5 6 105
9106VM-407 | DIN4OM-07 |29| 36 (34| 28 |16| 68.4 |M16*1.5P| 145 | 78.4 | 115 |10|143| 6 |25.5/45.7|145.6(0.5|9 6| 18 |30| 6
9106VM-427 | DINS0M-27 |44| 54 |50 38 |22(101.75/M22*1.5P|{210.5|117.75|176.75| 16 | 209 |9.5| 35 |80.4|224.5|0.5(12| 9| 35 |30|10

@ www.acrow-tools.com.tw




DIN69872 X MAFK, |||||1||||||||||1|||||||1|‘
W nmmmmmmmmmmm)

9
p
+0.1
kjsS i
h+0.1
J
L i
\“\\\“\llnlilmlm )
o
Q
% | __III I
]2 “‘I:l 11—
& ¢ ) -
Q
IUJ
hA+0'5 S
hs
L
o MAHATIRZIE - MIERE - e Special treated segments can prevent abrasion.
e Fs: BARITIA » e Fs: Max. Clamping Force
o Ma: ERASHERHE - e Ma: Max. Tightening Torque
EIiBiRER R a|b|c|d]|e f g h i J k Il | m|n| p |ha|hT|hs|FsMax.|Ma SW
Order No. | PartNo. |H7 kN Nm | mm
9106VF-647 DIN30F-47|20 (23.5{25|19.5/ 11 |M10*1.0P| 121.3 | 55.4 |9.5| 17 | 81.8 |7.9|94.4| 5 |100.5|0.5| 7 | 5 6 10| 4
9106VF-607 DIN4OF-07 |29 | 34 | 36| 28 |13|M12*1.0P| 175 | 78.4 |15|22.5| 115 |10|143| 6 | 145 |0.5| 9 | 6 18 |30 6
9106VF-427 |DINSOF-27| 44 | 50 |54 | 38 |17 |M16*1.5P| 251 |117.75({19| 25 [176.75[16 209 | 7 | 214 |0.5{12| 9 35 30| 6

www.acrow-tools.com.tw



CATEADFRTUANGETL o
CAT [Pl Siwe] Wype Canping Unis IIIIIIHIIIIIIIHIHIIIIIIIIIIHIIIIH

J =
1 ol ©
Q
[ =
Q
o MAHASIRZIE - MIERE - e Special treated segments can prevent abrasion.
e Fs: AR - e Fs: Max. Clamping Force
o Ma : RASHERHE - e Ma: Max. Tightening Torque
EIEE#RER BRE |a| b |c| d|e|l f g i i k |1 |m|n|o| p | g |ha|hT|hs|FsMax./Ma|SW
Order No. | PartNo. |H7 kN | Nm [ mm

9106VM-444 | CAT30M-44|20(23.5|25|19.5|10| 47.5 |[M10*1.5P| 95.4 | 55.4 | 81.8 |7.9|94.4| 3 | 20 |38.9| 103 |0.5|7 |5 6 10| 5

9106VM-404 | CAT4A0M-04 |29| 36 (34| 28 |16| 68.4 [M16*1.5P| 145 | 78.4 | 115 |10|143| 6 |25.5|55.45{145.6|/0.5|9 |6 | 18 |30| 6

9106VM-424 | CAT50M-24 (44| 54 |50| 38 |22|101.75|M22*1.5P|210.5|117.75(176.75| 16 | 209 |9.5| 35 | 89 |224.5|0.5{12| 9| 35 |30/|10

www.acrow-tools.com.tw



CATEDFIMPISFIX, o
CcATRRullfStudiTy pelClam ping]Units ITITHITHIITIIIIIIIIIiiii

@dH

"

}ﬂ'ff‘ﬂ
ony

Iﬂ)
Q
o MAHATIRZIE - MIERE - e Special treated segments can prevent abrasion.
o Fs: RAALTIT] - e Fs: Max. Clamping Force
o Ma: ERASHERHE - e Ma: Max. Tightening Torque
EIIEHRER R alb|c|d| e f g h i| k Il {m|n| p |ha|ht|hs|FsMax.|Ma|SW
Order No. | PartNo. |H7 kN Nm | mm

9106VF-644 |CAT30F-44|20 (23.5/25|19.5/11|M10*1.0P| 121.3 | 55.4 |9.5| 17 | 81.8 |7.9|94.4| 5 [100.5|0.5| 7 | 5 6 101 4

9106VF-604 |CAT40F-04(29 | 34 |36| 28 |13 |M12*1.0P| 175 | 78.4 |15(22.5| 115 |10|143| 6 | 145 |0.5| 9 | 6 18 |30 6

9106VF-624 |CAT50F-24| 44 | 50 | 54| 38 |17 |M16*1.5P| 251 |117.75/19| 25 |176.75{16 209 | 7 | 214 |0.5/12]| 9 35 30| 6

www.acrow-tools.com.tw



HSK}ﬁD%m lllllllllllllllllIllllllllIllllllllIIIIIIIIIIIIIIIIIIH
@lamping LTI PP PP

f:0.1
9 |
i k
j — N o
2 s 2
‘ Q [8) Q -
oY 8 3
L ]
— L
o| = 1 [ _ _
SIS T Ve *Fs
**MA S F—)
AN
ha | | sw2 \ M
h
h max
o MAHIFIRERIE » MEFE o e Special treated segments can prevent abrasion.
e Fs: FAALIA] - e Fs: Max. Clamping Force
o Ma : R ATHERIE - e Ma: Max. Tightening Torque
ETEEHRER R a |bl|b2| c|d]e f g M h | ha| i j k h |Fs Max.| MA [SW1|SW2
Order No. Part No. H10 | H6 Max.| kN Nm | mm | mm

9106H-HSK25 | HSK25 | 25 | 14 | 14 | 18 | 6.4 | 40 |25.5|18.5| Mé6*0.5P (4.6 |05 |65|05 (55| 7 2.8 7 /10| 3

9106H-HSK32 | HSK32 | 32 | 17 | 17 |22.5| 6.6 [62.5| 43 | 30 | M6*1.0P | 5.1 |0.5|8.5|0.5|19.5| 7.5 5 10 12| 3

9106H-HSK40 | HSK40 | 40 | 21 | 21 |26.5/ 8.6 | 78 | 58 | 44 | M8*1.25P | 5.6 | 0.5|8.5|0.5|27.0| 8 6.8 15115 | 4

9106H-HSK50 | HSK50 | 50 | 26 | 26 |33.0{10.6| 84 | 61 | 45 | M10*1.5P | 6.4 | 0.5 |10.5| 0.5 |26.5| ¢ 11 20 | 18 | 4

9106H-HSK63 | HSK63 | 63 | 34 | 34 |(41.6|14.6| 94 | 69 | 52 | M14*1.5P | 7.4 | 0.5 [10.5| 0.5 [31.5| 10 18 30 24| 5

9106H-HSK80 | HSK80 | 80 | 42 | 42 | 50 [16.6| 98 | 72 | 56 | M16*1.5P |83 | 05| 13 |0.5| 29 | 11 28 30|27 | 6

9106H-HSK100 | HSK100 | 100| 53 | 53 | 63 |18.4/124| 93 | 70 | M16*1.5P |9.15/ 0.5 | 13 | 0.5 |34.5| 125| 45 50 | 36 | 6

HSKﬁ{%}ﬂD%m Ingsnansnanansna e
[:{@:K m InnaEannnnnna i na i

RI7JZ&IT HEISRITIZETI HEIERITIZEM
Clamping Units Repair Clamping Units Repair Clamping Units
e] -0.30or-0.6 1948
Part No. HSK HSK-0.3 HSK-0.6
| N EIFEiRER SIREHRSR EIREHRER
— [ ] Order No. 9 Order No. 9 Order No. 9

HSK32 | 9106H-HSK32 |30.0 | 9106H-HSK32-0.3 | 29.7 | 9106H-HSK32-0.6 | 29.4

HSK40 | 9106H-HSK40 | 44.0 | 9106H-HSK40-0.3 | 43.7 | 9106H-HSK40-0.6 | 43.4

HSK50 | 9106H-HSK50 | 45.0 | 9106H-HSK50-0.3 | 44.7 | 9106H-HSK50-0.6 | 44.4

HSK63 | 9106H-HSK63 | 52.0 | 9106H-HSK63-0.3 | 51.7 | 9106H-HSK63-0.6 | 51.4

HSK100 | 9106H-HSK100 | 70.0 | 9106H-HSK100-0.3 | 69.7 | 9106H-HSK100-0.6 | 69.4

@ www.acrow-tools.com.tw



HSK SensorEALAEBR v
hHSK(GaugelforkSensorRositio n I

HIf-5 R
Order No. Part No.

8002-032-SENSOR

HSK32-Sensor

8002-040-SENSOR

HSK40-Sensor

8002-050-SENSOR

HSK50-Sensor

8002-063-SENSOR

HSKé63-Sensor

8002-100-SENSOR

HSK100-Sensor

HSKIBEMZ3E 588 () |||||||||||H||H|HIIHI‘
HSK(Clamping]lUnifinstallation]Eixturel(Se )Rl

v

Fig. 1 .
9 STV
Order No.
Eflhagia s FAEINERE RINEZEA WMZEa A EE 1815
Mandrel Mandrel Clamping Unit | Clamping Unit Part No
Measurement Adjustment Installation Installation :
Fixture Fixture Fixture Fixture (Set)
Fig. 2 Fig. 1 Fig. 2 Fig. 3 Fig. 4
8004-025 8004W-025 8005-025 8006-025S HSK25
8004-032 8004W-032 8005-032 8006-032S HSK32
_ 8004-040 8004W-040 8005-040 8006-040S HSK40
8004-050 8004W-050 8005-050 8006-050S HSK50
Fig.3
9 8004-063 8004W-063 8005-063 8006-063S HSKé63
8004-080 8004W-080 8005-080 8006-080S HSK80
°
' 8004-100 8004W-100 8005-100 8006-100S HSK100

www.acrow-tools.com.tw @



5 3 g
STB :T:Eiﬂ“nﬁﬁ AT RO
ISTiBEStandardiiTe’s tBa s STt o

15 205 L

Fig. 1
[a)]
8
Fig. 2 |
g . HEE
Part No. Fig. @b L G Roundness
1SO10-14-050 1 14 50 -
1SO15-16-075 16 MO06
1SO20-20-075 75
20 M08
1SO25-20-075 5 <0.003
1SO30-32-250 32 250 M12
1SO40-40-300 M16
40 300
1SO50-40-300 M24
o [EEMIASEE  SBEIRM > o Supplied with wooden case, vertical storage necessarily.
o HEZSE >85% - o Taper contact > 85%.
) ]
» . - o
~3& / T )
Fig. 3 L |
g . HEE
Part No. Fig. @b L G Roundness
ABT30-32-235 32 235 M12
ABT40-50-350 3 50 350 M16 <0.003
ABT50-50-360 50 360 M24
£ o FBEEMASEE  BEIIEM © o Supplied with wooden case, vertical storage necessarily.
Q o HEBSE >85% o Taper contact > 85%.
\¢
&
4 [l
Q\. -
& .
Fig. 4 Al L |
g : HEE
Part No. Fig. @b L Roundness
HSK25 E-20-150 - 20 150
HSK32A /E-25-200 25 200
y HSK40A /E-32-200 3 200
V4 HSK50A /E-32-250 250
<0.003
HSK63A /E-50-200 4 50 200
HSK63A /E-40-300 40 300
HSK100A /E-50-200 50 200
HSK100A /E-50-350 350
o FBEEMASEE  SEEIIEM © o Supplied with wooden case, vertical storage necessarily.
o HEZSE >85% - e Taper contact > 85%.

@ www.acrow-tools.com.tw



N A
ATC&DI:E Illl||l||Illl||l|Illllll|IllllllIIIIHIIIIIIIHIII‘
S‘pindle Aligners LT

P:ﬁﬁo. @D aD1 L1 L2 L
e ISO25-ATC 37 20 40.5 70 138.5
BT30-ATC 46 25 50.4 74.5 154.9
BT40-ATC 63 32 67.4 70 175.4
BT50-ATC 100 40 104.8 80 231.8
DV30-ATC 50 25 51 74.5 154.3
DV40-ATC 63.5 32 71.45 70 178.25
DV50-ATC 97.45 40 104.8 80 231.6
CV30-ATC 46.05 25 51 74.5 154.3
CV40-ATC 63.5 32 71.45 70 178.25
CV50-ATC 98.42 40 104.8 80 231.6
o BELE- e Customized Production.
8
Paxiﬁo. oD oD1 L1 L2 L
HSK32A-ATC 32 26 36 132
HSK40A-ATC 40 27 40 > 136
HSK50A-ATC 50 32 51 157
HSK63A-ATC 63 40 58 70 164
HSK100A-ATC 100 64 79 100 217

www.acrow-tools.com.tw



EQH%EEE ||||||||||||||||||||||1||1|||||1||1||||||||||||\||\1||H
o ellEje'ction]Rath]in'strum'e n:ts Al

EIFEiRaR B8
Order No. Part No.
6151-61 1SO20
6151-71 1SO25
6151-41 BT30
6151-01 BT40
6151-21 BT50
= 7151-41 DV30
7151-01 DV40
7151-21 DV50
5151-01 CV40
5151-21 CV50
E:ﬂﬁgﬁ TP TR PR PR PR AT ER R E TR
I
=] PEime
Order No.
b
B 25 i part -
Ring Guage Plug Guage Set
6145-10-R 6145-10-P 6145-10-F 1SO10
6145-15-R 6145-15-P 6145-15-F 1ISO15
6145-20-R 6145-20-P 6145-20-F 1SO20
6145-25-R 6145-25-P 6145-25-F 1SO25
6145-30-R 6145-30-P 6145-30-F 1SO30
6145-40-R 6145-40-P 6145-40-F 1SO40
6145-50-R 6145-50-P 6145-50-F 1SO50

@ www.acrow-tools.com.tw



EEH%E*E IIIHIIIIIIIIIHIIIIIIIHIIIIIIIIHIIIIIIIIHIIHIIIIHIIHIII‘H
S‘pindle Bept-h Gauge TP TP T

EIEE#RER g
Order No. Part No.
6145-A30-F ABT30
6145-A40-F ABT40
6145-A50-F ABT50
o EBTRER: ZEm- o Dial Indicators: Purchased separately.

chi\ B 72k B D&t IIIIIIHHIIIIIIIIIIHIIIHIIIIIHIIIHIIIIIIIIHIHIIIHIIIHIHI‘
CoolantjilihroughlBressurelGauge sl

o ERIET) : LSS ATIENBBUE - BIRERIET (kg-f)
e The finger indicated the value of the outer ring; the value is pull

force measured.

AR EREE
Part No. Measuring Range
1SO40 0~40 kg/cm?
1SO50 0~60 kg/cm?
HSKé3 0~40 kg/cm?
HSK100 0~60 kg/cm?

www.acrow-tools.com.tw



A

NEBEWEDBERLT

ACROW MACHINERY MFG. CO., LTD.

42900568 MM EEZ Mg 3018 9-25%

No. 9-2, Lane 301, Fong Chou Road, Sheng Kang District,

Taichung City 429005, Taiwan

TEL: +886-4-2520-6812, +886-4-2526-8225 FAX: +886-4-2527-9981
Email: info@acrow-tools.com.tw

Website: www.acrow-tools.com.tw




